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K (RPZER V)  [C EXKRK L5202 0BETREDAR ]

V:8EE, Yu,v,weV, Ykl eR PIRD 10HONEE AT L E, V
% (R LO)#IEZER], jtueV & XZ ML W,
N1 u,veV, Mlu+veVREREINTWVWS.
2. ut+v=v+u (KHEA)
3. M+(W+W):(M+V)+W (/\né?ﬁﬂ”)
4. JloeVst u+o=0+u=u
5.YueVil—-ueVst u+(-u)=(-u)+u=o
(0% ¥H - RI P, —uZ2udFiws\n>d)
REG6. ueV, keR, ATt kuec VAERERINTWVS.
7. k(u+v)=ku+kv (2B 1)
8. (k+lu=Fku+iu (2HER2)
9. k(lu) = (kl)u
10. 1 - u=mu

R™ X AT 1~10 % A7 USIKZERT. (130010 ta % b 2eiinis 3)
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1l

V={(z,y,2) €ER3|ar + by +cz =0} JFHri%#ES R NOFH
TR ZER]. (N2 DV (a,b,¢) LTERT S (a,b, )« (x,y,2) = 0)

S ZERTH Y, VCR &V VIEAH 23,789,102 A7 7.
(R3 2R THL)
(/A\IE 1) u = (ul,UQ,U3),W = (01,1)2,1)3) eV
= auy + bus + cug = 0, avy + bvg + cv3 =0
= a(uy + v1) + b(ug + v2) + c(ug + v3) =0
> u+v= (ul +1)1,UQ+U2,U3+U3)€ V.
(A 4) 0 =(0,0,0)€ V.
(/\fi 5) —u = ( U1, —Uu2, —U3) eV.
(" auy + bug + cuz = 0 = a(—wuy) + b(—u2) + ¢(—u3) = 0)
(RE6) ku = (kui, kug, kug) € V.
(. auy + bug + cug = 0 = a(kuy) + b(kusz) + c(kus) =
k(CLU1 + bug + Cu?,) =k-0= 0)
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i
V={(z,y,2) ER® |z =at,y=0bt,z=ct(t c R)} FH%EES R>NH
D ERRITHRIE 2]

Al Bl FR. (BEHFEATAHRD)

A,

il

V = Mpn = { EBES O m x n 1750 } 1dAE M.
A TAIOR, - RT ML EFT O,

Wt : ADWIX —A, AHT—HE  THDAS T % KA.

A,

Ll

V={f:R—>R} R _EOEBRMEBEKIIMLLEM.
M (f +9)(2) = f(2) +g(x), ER - RT B f=0,
Wt f DT —f, AN T 5 (kf)(z) ==k f(x).

.
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1

V ={(z,y) € R? | z >0,y > 0} IZMLZER— TR,
o (1,1) eV EI —(1,1) = (-1,-1) ¢ V.

A,

1l

V={o} ¥U-~ZFM»5ES1EES LR,
BIZIE, V = {(0,0,0)} C R®.

V = { EHI {a,}} FEBIIEEEHILAERM.

“a={ay}, b= {b,} ITHLT,
%D ta+b:={a,+by}, €0 - X7 ;L :{0}=1{0,00,---},
Wt :a DHITCIE —a = {—an}, AN T —FF : ka := {ka,}.
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il
V=R[X|={f=a X"+ - +a1X +ay|a € R,n>0} FHBHEHD
1 282 HA S RIERE 22 /1.

M ZHADOH f+g9, ¥u - RIZBMV:0ER,

Wit : fOWTIE —f, ANT 5 kfeV.

Ll
VZ]R[X]n:{f:aan+~'-+a1X+a0‘aiER} n IRBA R DER
BRI D 1 28 L HA R ARITHIE 2= M.

M ZHADOM f+g, ¥u - RIZBMLV:0ER,

Wt . f DML —f, AAT—fE:kfeV.

A

> Hpp.161~163 DMEME 4.2 2 KEHX > TAD
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VP ZEE, ueV, keR.
(@) 0cu=o0. (b)) k-o=0. (c)(-1)-u=-u.
(dk-u=0=k=0F7zEu=o0.

(GEH) (AELL S5 AP 10 DAZHWTRT)
(a)0-u+0-u =, (040) u=0-u 25 KLD 0 -udDFIt —0-u HfF
L, MAIZEdE (0-u+0-u)+(-0-u)=0-u+(-0-u) =

NP 3,5

0-u+(0-u+(-0-u))=o —> 0uto=0 = 0-u=o.
N 5

NEL 4
(b)k~®/\g4k‘(®+®)/E7k-®+k-®. Ko TRHES XD, k-0 DT
—k-oZ&NL (a) LK (¢) u+ (—1)-111/\1;0 l-ut(-1)-u
= (1-1)-u=0-u =0 &2T, —u=(-1) - u

N (a)

(BWHE) k£ 02D u#o 2WE. k-u=o0 DMl £ 25T




